Addition Practice

Name: Date:
Question 1
Convert the addition equations to top-to-bottom format and solve
. 47+56 = V. 30,200 +1444 =
Il. 89,120 +9012 = V. 1,200,000 +0.0223 =
Il. 480 +590 = VI. 89+520=
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Addition Practice

VI. 99+99 = X, 9999+999=
VIII. 1,200,000 +9,000,1204 = Xl 08416+ 0415 =
IX. 4+4002= Xl 0.078+0.076 =
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Addition Practice

Xl 3,445,60211+ 840,000.744 = XVI. 34403+ 6403 =
XN 777 +777 = XVIl. 0.334+334 =
XV. 899,888 + 911,222 = XVIII. 1+ 999,999 =
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Name:

Question 1

Addition Practice
Date:

Convert the addition equations to top-to-bottom format and solve

} +56 =

l top-to-bottom

11

l top-to-bottom

1

Il. + =
l top-to-bottom

11

+1. =

l top-to-bottom

+

+ 0. =

l top-to-bottom
+
=+ =

l top-to-bottom

1
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VII. + =
l top-to-bottom

11

VI + 4 =
l top-to-bottom

1

IX. 4+4, = 8.
l top-to-bottom

Addition Practice

X.

Xl.

XII.

+ =

l top-to-bottom

1111

+ U, =

l top-to-bottom

+ 0. =0.

l top-to-bottom

11
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Addition Practice

XIII. T+ . =
l top-to-bottom

1

XIV. + =
l top-to-bottom

111

XV. + =
l top-to-bottom

1111 11

XVI. i + 6. =40.
l top-to-bottom

1

XVII. 0. + =
l top-to-bottom

XVII. 1+ =
l top-to-bottom

1111 11
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